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1. BhiR vy = f(x) IZBWVWT
A(a, f(a)) BRI ( DIEE = f(a)

g#RoFEN

X y = f(a) = f'(a)(x — a)
2. z="f(x,y) DT ST OHEICEVT,
A(a, b, f(a, b)) IZHITS

x HEEBGEOESE = £(a, b),
y BEESOES = f,(a,b),
BTEOSER
z —f(a, b) = f(a, b)(x — a) + f,(a, b)(y — b)
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2 EHEBMDEHRERDMDE
(i) z=g(t)WPET8E t = f(x,y) RS ETEE
— BB z = g(f(x,y)) DRMWAIATRET

zo =1z, X, =1,z /t
\_ y

TTICAEBE>TWLS,
[Bl] z=sin(xy) DEE xy =t £LHEWVT

z, = z;t, = (sint)¢(xy)x = cost - y = y cos(xy)
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~ 2 ZEHEAROERBEBOMIE (i)
(i) z=f(x,y) : RHPTEED DREEBHER,

x = o(t), y = (t) : MEFTHE /’ X \
N

— BB 2 = f(o(t), (1)) HHMATTET ¢ z
y /

zy = + oo (%)

(i) z = f(x,y) DMERHS ATEED D REBEBHESR,
x=(u,v), y =9(u,v) : REDETEE
— GRBE z = f(p(u,v),¥(u,v)) BRMATTET

ZX
Zy = XuZx + Yuzy Yu S
z, = X,Zx + W2, Xy /
Zy
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[(ii) DEEL D]

tH At BITERTRIEE x,y,z 1

Ax = o(t + At) — (t)
Ay = P(t + At) — Y(t)
Az = f(x+ Ax,y + Ay) — f(x,y)

721319 %5. T T Lagrange DFHEEOEERZE> THRAMS L RAKOHERE
I3,

Az = (f(x+ Ax,y + Ay) — f(x,y + Ay)) + (f(x,y + Ay) — f(X,y))
= f(x + 01 Ax,y + Ay)Ax + f,(x,y + 6 Ay) Ay,
0<b0; <1, 0<br<1

EH3 0., 0, BHB.
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[(ii) DEEDL (H:F)]
COmA% At TR T At =0T

At dr ¢ At dt
flx +01Ax,y + Ay) = f(x,y) =z,  f,(x,y +0:4y) = f,(x,y) = 2,
EBB3DT A
Xi — (%) DHED
hhoh3.
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X = rcosf
P y =rsinf
o e D5
: X Ox .
f ; E—cose %——rsme
@*sinﬁ a—y*rcosﬂ
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r = /X2_|_y2
g X
0= RS
sinH:L
Vx2+ y?
or X cos 6 or I A sin 0
—_— = —_— = SI
Ox  \/x2+y2 Iy  /x2+y?
9 -y  —sinf 99 x _ cosf
Ox x24y2  r dy x24y2
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